21

( 30-16
41 )
39 40
H19 136  H20 117  H2l 176
H19 29 H20 37  H21 39
41 H19 251  H20 121  H21 79
42 34 CoO, H20 2 H21 12
20 12
6,000,000 1,000,000 16.7% 3900000  65.0
© 600,000  10.0
21
H18 H19 H20 H21

2 2 2 2

| 0 0 0 0

8 8 8 8

| 0 0 0 0

24 24 23 25

| 0 0 0 0

7 7 6 4

26 26 25 27

15 15 14 12

0 0 0 0

605 4,041 434 6,773
21 20
(A) 249,935 (239,142) 0 0)
(B) 280,807 (321,608) 0 0)
(A)-(B) 30,872 ( 82,466) 0 0)
35,408 ( 83332 0 0)
89.4 (89.6) 791  (80.7) 0 0)
87.6 (74.2) 6012 (1,806.4) 49456  (87271)
60.3 (56.6) 938  (97.4) 0 0)
10.6 (10.4) 776  (795) 0 0)
127 ( 207) 00  (00) 0 )
0.0 (0.0)

( 0 ©)

15 10

H16 H16.3
H18 H17.3 6
4
H18.3 42 25
H21.1
H19.5
H19
H20.8 Co,
(H20
H20 H20.8
500 16.7
2 1
23
20
1
2




19 20 21

(A) 301,679 239,142 249,935

277,697 217,332 233,387

(B) 461,620 321,608 280,807

424,684 288,106 250,910

424,684 288,106 250,910

173,825 163,222 153531

36,936 33,502 29,897

11,021 10,502 8,081

9,024 8,295 7,703

(C)=(A)-(B) 159,941 82,466 30,872

(D) 0 9 0

(E) 518 875 4,536

(F)=(D)-(E) 518 866 4,536

(G)=(C)+(F) 160,459 83,332 35,408

(H) 1,657,760 1,497,301 1,413,969

()=(G)+(H) 1,497,301 1,413,969 1,378,561

) 0 0 0

(K) 0 0 0

(L)=(I)+(K) 0 0 0

(M)=(G)+(J) 160,459 83,332 35,408

(N) 1,657,760 1,497,301 1,413,969

(0)=(M)+(N) 1,497,301 1,413,969 1,378,561
19 20 21

453514 375,527 448,737

406,258 319,392 391,033

1,422,918 1,377,309 1,293,385

1,000 6,000 6,000

1,387,800 1,347,094 1,274,635

304,069 318,078 288,916

85,651 80,937 67,498

34,118 24,215 12,750

1,876,432 1,752,836 1,742,122

75,062 20,789 74,645

304,069 318,078 288,916

304,069 318,078 288,916

379,131 338,867 363,561

1,497,301 1,413,969 1,378,561

1,000 6,000 6,000

1,387,799 1,029,016 985,719

1,497,301 1,413,969 1,378,561

1,876,432 1,752,836 1,742,122




